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import sys
sys.path.append("statlib")
from misc import effect_size

effect_size(Ne, Me, SDe, Nc, Mc, SDc, verbose=True)

21 5I#

Ne FEERBED 7 — 2B D7 + v

Me FEERED PO R T T+ v

SDe TR OBHERAZ DR b L

Nc WIRBED r — 2B DR b L
Mc SHERED FHDO R 7 b oL

SDc MNEFEOEHERAZEDO X7 F v
verbose PIR/NRDO 7Y v PR TS

2.2 BRbhEDHAH]

"DF" (SRS

"g" g DY

"d" d DS

"dplus" d DEHAD EFY
3 {ERHI

]m:[m,m,m,@] # RBREODT—XAHBORI ML



Me = [130, 120, 140, 160] # RBRBEOTHEOINI NI
Sbe = [15, 12, 20, 20] # ERBRBOEEREONI NI
Nc = [5, 20, 30, 20] # WEBEOT—XABORI KNI
Mc = [140, 140, 150, 145] # WRBEOTETHEONRNI ML
SDc = [20, 15, 25, 35] # WBRBOEEREONRNI NI

import sys
sys.path.append("statlib™)
from misc import effect_size

ans = effect_size(Ne, Me, SDe, Nc, Mc, SDc)

Ne Me SDe Nc Mc SDc SD g d SSest
® 10 130 15 5 140 20 16.698687 -0.598849 -0.563623 0.310589
1 40 120 12 20 140 15 13.058885 -1.531524 -1.511634 0.094042
2 30 140 20 30 150 25 22.638463 -0.441726 -0.435989 0.068251
3 40 160 20 20 145 35 25.889353 0.579389 0.571864 0.077725
g = -0.49818, d = -0.48485, d+ = -0.40897



